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‘ “) ATOMIC STRUCTURE

N 1. Fill in the following table:
Particle Charge Mass (amu) Location in atom
Proton Al \ udeuy
Elzcfron - % g4 o C (U\JJ}
Neutron O \ N dgoy

2, Label the diagram of the atom with the following terms: nucleus, electron cloud, electron, proton, neutron.
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Which element does this diagram represent? . L \

3. Define the terins atom, ion, and 1sctope

a'}‘om WMos T com/rn 'R)rm of- eleprend
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4. Complete the blanks in the table,
Element Masls] Num- " Atomic 4 of Proténs- # of Elec- # of Neu-
er Number - trons trons

Oxygen 17 B o) 2 | 9

?

| Pt 4 N° = Nockeus = rasy
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\¢ 0N 22, 1O 10 (O 12
(Mle ring 32 17 Iy R 15
Pluring | 18 g 9 9 9
b ing 71 3_'5 35 %S Slo



Fill in the table with the appropriate information.

| Atomic Structure and Mass

Mass Num- Atomic # of Elec- # of Neu- Nuclear
Isotope ber Number # of Protons trons trons Symbol
. ‘ 3
Sodium-23 23 U e 11 )L 1 Na
- N -
Crygtnst) .l } o 8 10 9 s Ot
u 54
Chamsm =51 S 24 [ 2 27 24
A
32 (S 15 18 I3 2 -3
P sl cous - 14 15
Determine the number of protons and electrons in the following ions:
Element Ion Number of Pro- Number of
Symbol tons Electrons
0638 39w K" 19 18
P hoyp hovouy P* 15 1%
('g,\owm G’ Lo 1 8
bodn r 53 54
Calculate the atomic mass of a sample that contains 5% °Br and 95% *°Br. _
he ~ F4 X .65 o 345 ( j
,‘] 0?6?5 G
L, . 8¢ x, 95 » 14 | _,
Calculate the average atomic mass of Bromine,
Isotope Abundance
Sulfur — 32 95 S 95 = 36:Y
Sulfur — 33 0.76 Lo06Y0 - ‘ ZS
Sulfur— 34 4.22 . 6 L-i 'Lz. - ’ , LI _3
Sulfur — 35 0.014 006 1Y 2} L GoY
22,08 amw
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